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QUESTION 1

Given that: 

What is X in the above code ? (Choose one) 

A. byte[] 

B. DataHandler 

C. Image 

D. Byte[] 

Correct Answer: C 

 

QUESTION 2

Given stock quote web service endpoint: 

and the corresponding client side artifacts for the above web service are : 

StockQuoteService is the Service class and StockQuoteProvider is the corresponding SEI. Which of the following two
options enable addressing feature for proxy for the StockQuoteProvider SEI ? (Choose two) 

A. proxy = new StockQuoteService().getStockQuoteProvider() 

B. proxy = new StockQuoteService().getStockQuoteProvider(new AddressingFeature()) 

C. proxy = new StockQuoteService().getStockQuoteProvider(new AddressingFeature(false)) 

D. proxy = new StockQuoteService().getStockQuoteProvider(new AddressingFeature(false, true)) 
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Correct Answer: AB 

 

QUESTION 3

Given the JAX-RS root resource class fragment: 

Choose the statement that best describes the configuration that would be required to support the access control
constraint shown: 

A. No further configuration is required - the JavaEE runtime will pick up the security constraint and configure the web
container to match. 

B. The developer will have to configure the web container to require authenticated access to the URLs corresponding to
this resource, so the proper information can be propagated to the EJB container. 

C. The developer will have to turn on authentication in the web container configuration file, so that all incoming requests
are authenticated in order to be processed. 

D. The developer will have to configure the web container to require authenticated access to the URLs corresponding to
this resource, and then map web-tier roles to ejb-tier roles, since the JAX- RS and EJB runtimes cannot use the same
set of roles. 

Correct Answer: B 

 

QUESTION 4

Which two statements are true about public key digital signatures applied to Web services? (Choose two) 

A. The receiver verifies that the message matches the digital signature using its own private key. 

B. The sender creates a digital signature using its own private key and sends that signature along with the original
document. 

C. The sender creates a digital signature using its own public key and sends that signature along with the original
document. 

D. The receiver verifies that the message matches the digital signature using the sender\\'s public key. 

Correct Answer: BD 

 

QUESTION 5

A company is refactoring an existing website to use Web services clients. The application retrieves lists of parts and
displays them to the users in a browser window. Previously, the data was stored as files on the web server and, in order
to access the files, the user would simply click on a hyperlink. Now the data must be dynamically generated via a
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service that another developer has created. They want the easiest way to refactor their website to use Web services.
Which three client-side technologies should they use? (Choose three.) 

A. SOAP 

B. REST 

C. Javascript 

D. XML 

E. JSON 

F. JAVA 

Correct Answer: BCE 

 

QUESTION 6

Which of the following can an EJB-based web service endpoint may NOT be able to use ? 

A. Servlet sessions 

B. Java EE 6 declarative security 

C. container-managed transactions 

D. dependency injection 

Correct Answer: A 

 

QUESTION 7

What are two features of a WSDL 1.1 document? (Choose two.) 

A. Service defines a collection of related endpoints. 

B. Service describes the message\\'s payload using XML. 

C. Service assigns an Internet address to a specific binding. 

D. Porttype declares complex data types and elements used elsewhere. 

E. Porttype elements are used to group a set of abstract operations. 

F. Porttype defines a concrete protocol and data format specification. 

Correct Answer: AE 

 

QUESTION 8
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An automobile manufacturer publishes a Web service for use by their suppliers. The manufacturer has stringent security
requirements that require suppliers to verify their identity. Data integrity and confidentiality must be maintained between
the client and the server. Which two technologies can be used to meet the requirements? (Choose two) 

A. XACML and XKMS 

B. SSL with mutual authentication 

C. Message level security with WS-Security 

D. Private network and XML Signature 

Correct Answer: BC 

 

QUESTION 9

Given that a web service endpoint is based on the stateless session EJB: 

Which is true about the security roles of clients of MrBean? (Choose one) 

A. Only EJB clients must be in role A. 

B. Only Web Service clients must be in role A. 

C. Both EJB and web service clients must be in role A. 

D. Both EJB and web service clients must NOT be in role A. 

Correct Answer: C 

 

QUESTION 10

Given the class: 
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Choose the option that describes what would happen if this class were deployed (Choose one): 

A. Any HTTP GET or POST request with the URL "/resource" would result in a call to getName(). 

B. Any HTTP GET or POST request with URLs that begin with "/resource" would result in a call to getName(). 

C. A runtime error would result, since a method cannot be responsible for both GET and POST requests. 

D. A compile error would result, since a method cannot be responsible for both GET and POST requests. 

Correct Answer: A 

 

QUESTION 11

A developer must create a program to parse a medium-sized XML file looking for an instance of a specific element.
Once the developer has found the element, the value must be updated and saved to disk. Which two XML parsing APIs
should be used in this situation? (Choose two.) 

A. DOM 

B. StAX 

C. JAXM 

D. SAAJ 

Correct Answer: AB 

 

QUESTION 12

When a SOAP envelope is optimized on the wire, the following can be said about the optimized infoset : (Choose one)
A. optimized infoset contains xop:Include elements with href attribute pointing to attachment data 

B. optimized infoset contains mtom:Import with location attribute pointing to attachment data 

C. optimized infoset doesn\\'t have any specific elements for MIME attachment. 

D. optimzed infoset\\'s element contain cid:Content-ID as the text and Content-ID refers to the associated attachment 

Correct Answer: A 
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